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Math 60: 10.5 Word Problems

_,— Identify if the function has a maximum or minimum value, then find that value.
)

) flx)=x>—6x+3 2) A(f)=—-t*+4t+12

3) A contest called Punkin Chunkin is held to see whose device can hurl a pumpkin the furthest. An air
cannon shoots the pumpkin so that its height s in feet at time ¢ seconds after being fired is given by
5(t) =—16t* +240¢ +10

a. Determine the time at which the pumpkin is at its maximum height.

b. Determine the maximum height of the pumpkin.

c. After how long will the pumpkin strike the ground? (Round to the nearest hundredth of a
second.)



4) A farmer has 3000 feet of fencing with which to enclose a rectangular field.
a. What is the maximum area that can be enclosed by the fence?
b. What are the dimensions of the field with maximum area?

5) The marketing department says revenue from selling a computer at price p dollars is
R(p)= —-%pz +400p.

a. For what price will revenue be maximized?
b. What is the maximum revenue?



